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1. What is the least amount a customer can spend on items and pay $6.50 for shipping?  
 
2. What is the greatest amount a customer can spend on items and pay $6.50 for 

shipping?  
 

3. What is the shipping fee if Sarah spends exactly $75.00 on items? Explain your 
reasoning.  
 

4. Harvey says he will spend $13.10 on shipping fees if he spends exactly $100 on items. Is 
he correct? Explain your reasoning. 

$0.01

$20.00

$12.25

Yes
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Greater than or equal to (≥) $0.01, and less than or equal to (≤) $20.00  

Greater than (>) $20.00, and less than or equal to (≤) $50.00 

Greater than (>) $50.00, and less than (<) $75.00  

Greater than or equal to (≥) $75.00, and less than (<) $100.00 

Greater than or equal to (≥) $100.00 
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
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Which inequalities are joined by an “or” or an “and”?   
a, b, c, and d are compound inequalities. 


